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9 Davos is a cleaner. Video created by W Neill

The table shows information about the time it will take him to clean each of four rooms

in a house.
Room Time
Kitchen 2 hours
Sitting room 1 hour 40 minutes
1
Bedroom 15 hours
Bathroom 45 minutes

Davos wants to clean all four rooms in one day.
He will have breaks for a total time of 75 minutes.

Davos is going to start cleaning at 9 am.

Will he finish cleaning by 4 pm?
You must show all your working.
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Here is part of a train timetable from Lostock to Preston.

Lostock 0746 0816 0846 0857
Horwich 0750 0820 0839 0850 0901
Blackrod 0753 0853
Adlington 0757 0825 0857
Chorley 0802 0830 0847 0902 0909
Buckshaw 0806 0833 0905
Leyland 0815 0840 0912
Preston 0820 0849 0859 0917 0922

Ariz wants to go from Horwich to Leyland by train.

He gets to the station at Horwich at 08 30

(b) What is the earliest time he can get to Leyland?

Mike wants to go from Blackrod to Preston by train.

He needs to get to Preston by 0925

(c) What 1s the latest train he can get from Blackrod?
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Here is part of a train timetable from Lostock to Preston.
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5 A film starts at 1930

The film lasts 104 minutes.
N7
At what time does the film end?

(Total for Question S is 2 marks)
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4 The table gives information about the prices of cinema tickets.

Cinema ticket Price

adult ticket £7.80
child ticket £5.80
family ticket (for 4 people) £24.30

Mr Edwards and his 3 children go to the cinema.

It is cheaper for Mr Edwards to buy 1 family ticket rather than 4 separate tickets.

(a) How much cheaper?

The film starts at 6.45 pm.
The film lasts 102 minutes.

(b) What time does the film finish?
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Cinema ticket Price : .
§nslz Eiclels
adult ticket £7.80
child ticket £5.80 | X £780 = £7:80
family ticket (for 4 people) £24.30 ’3 X zz’ S‘@O = {(7[40
Mr Edwards and his 3 children go to the cinema. g 2 S- . ZO

It 1s cheaper for Mr Edwards to buy 1 family ticket rather than 4 separate tickets.

(a) How much cheaper? ’F;W”[j EECW{' - -{2@%0

£25710 - {2430 q\Op or £0-90

The film starts at 6.45 pm. { 0 :
The film lasts 102 minutes. Z Min — ( A(‘ 42 min
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9 This is part of a bus timetable between Bury and Manchester.

Video created by W Neill

Ve Bury 0825 | 0855 | 0915 | 0930 | 0945 | 1005
Whitefield 0834 | 0904 | 0924 | 0939 0954 |1014
Heaton Park | 0846 | 0916 | 0936 | 0951 | 1006 | 1027
Cheetham 0856 | 0926 | 0946 | 1001 | 1016 | 1037
Manchester | 0905 | 0935 | 0955 | 1010 | 1025 | 1048

(a) How many minutes should the 08 25 bus take to go from Bury to Manchester?
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Bury 0825 | 0855 | 0915 | 0930 | 0945 | 1005
Whitefield 0834 0904 | 0924 0939 | 0954 | 1014
Heaton Park 0846 | 0916 | 0936 | 0951 | 1006 | 1027
Cheetham 0856 | 0926 | 0946 | 1001 | 1016 | 1037
Manchester 0905 | 0935 | 0955 | 1010 | 1025 | 1048

Daniel goes from Whitefield to Manchester by bus.

Daniel takes 17 minutes to get from his house to the bus stop in Whitefield.
He takes 15 minutes to get from the bus stop in Manchester to work.

Daniel has to get to work by 10am.
He leaves his house at 8.45am.

(b) Does Daniel get to work by 10am?

Ng

You must show all your working.
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9 This is part of a bus timetable between Bury and Manchester.

|
N "
Bury 0825 | 0855 | 0915 | 0930 | 0945 | 1005
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(a) How many minutes should the 08 25 bus take to go from Bury to Manchester?
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Work out 1.1-0.15

Circle your answer.

0.85
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[1 mark]

1.085
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_ 1
1 How many minutes are there in 35 hours?

N:)- Circle your answer.
[1 mark]

180.5 330 350
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Video created by W Neill

1 How many minutes are there in 2% hours?

N7 Circle your answer.
[1 mark]

135 145 215 225
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1 How many minutes are there in 2% hours? ”’\( = éo W, /)

N7 Circle your answer. i/Lf A \gm;n thS = {QOW\;/}

[1 mark]

135 145 215 225



9

N7

The time in Rio is three hours behind London.
The time in New York is five hours behind London.

What is the time in New York when itis 1.00 am in Rio?

Video created by W Neill

[2 marks]

Answer
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9 The time in Rio is three hours behind London.

N7 The time in New York is five hours behind London.

What is the time in New York when it is 1.00 am in Rio?
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12 How many minutes are there in 5% hours?

Circle your answer.
N7 [1 mark]

315 325 515 525
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12 How many minutes are there in 5 hours?

C e = S
N7 Circle your answer. q C = M v
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8 (b)

N7

The table shows how long Lena spends on each piece of equipment.

Rowing machine 15 minutes
Stepper 13 minutes
Treadmill 35 minutes
Bike 1 hour 30 minutes

Lena starts on the rowing machine at 1.50 pm

She has a break for 4 minutes between pieces of equipment.

What time does she finish on her last piece of equipment?

Answer
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[3 marks]
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